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A= (8- 5x)
= 82— 2x40x +(5x)
= 64 — 80x + 25>

B =[4x 3x-1)] - [(3x -7 ) (5§ —3x )]
=[12x*-4x] —[ 15x - 9x*- 35+ 21x ]
=[12x*-4x |- [ -9x*+ 36x -35 ]
= 12x% - 4x + 9x% -36x +35
=21x?-40x +35

F = (x-4)* - (x- 2)(x - 8)
= [(x-4)] - [(x-2)(x - 8)].
=[x +4%-2xxx4]-[x* - 8x - 2x + 16]
=[x*+16-8x]-[x"-10x + 16]
= x*+16-8x -x*+10x- 16
=2x

C=(x-3)>+x(x+5)
=[(x-3)] + [x(x +5)]
=[x*+3%-2 x 3 xx] + [x* + 5x]
=x>+9-6x+x+5x
=2x*-x+9

D = (x+4)* - (5x - 4)
=[(x+4)°] - (5x - 4)
=[x*+4% +2 x x x 4] - (5x-4)
=[x*+16 +8x] - (5x - 4)
=x>+16+8x-5x+4
=x>+3x +20
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alus 99962 - 9998 x 9992 =il lus 48y yha
99967 - 9998 x 9992 = (10000 - 4)* - (10000 - 2)(10000 - 8) = F(10000)

donc 99967 - 9998 x 9992 =2 x 10000 = 20000
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E=(2x-1)(x+8) + (x+8) ¢
E=(2x-1) (x+8) + (x+8) @ T 2x2+16X —x — 8 + X2 +2x x 8 +8?
E=(2x-1) (xt 8) + (xt 8)(x+8) =2x>+15x -8 +x*+16x+ 64
E=(x+8)[(2x-1)+(x+8)] = 2x*> + X2+ 15x + 16x + 56
E=(x+8)[2x-1+x+8] 3+ 3lx  + 56
E=(x+8)[3x+7]
F il Jesi (2 F il el g 5l (1

2. F=9x*-16 - (2x-3)(3x+4)
=(3x-4)3x+4)-(2x-3)(3x+4)
=Bx+4)[(3x-4)-(2x-3)]
=(Bx+4)[3x-4-2x+3]
=3x+4)[x-1]
=Bx+4)(x-1)

1. F=9x%-16-(2x-3)(3x +4)
=9x%-16 - [(2x - 3)(3x +4)]
=09x%-16 - [2x x 3x +2x x4 -3 x 3x - 3 x 4]
=9x%-16 - [6x*+ 8x - 9x - 12]
=9x%-16-[6x*-x-12]
=9x?-16-6x>+x+ 12
=3x*+x-4






